
PROBABILITY (SINGLE EVENTS)
[ESTIMATED TIME: 60 minutes] GCSE

(+ IGCSE) EXAM QUESTION PRACTICE

1. [6 marks]

54
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2. [2 marks]

A box contains some coloured cards.
Each card is red or blue or yellow or green.
The table shows the probability of taking a red card or a blue card or a yellow card.

Card Probability

Red 0.3

Blue 0.35

Yellow 0.15

Green

George takes at random a card from the box.

(a) Work out the probability that George takes a green card.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)
George replaces his card in the box.
Anish takes a card from the box and then replaces the card.
Anish does this 40 times.

(b) Work out an estimate for the number of times Anish takes a yellow card.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

3. [4 marks]
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4. [4 marks]

Here is a fair 5-sided spinner.

Red

Red Blue

Blue Green

Hans spins the spinner 30 times.

Work out an estimate for the number of times the spinner lands on Red.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

5. [2 marks]
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6. [3 marks]

John throws a biased coin 120 times.

It shows heads 90 times.

(a) John throws the coin once more.
 Work out an estimate for the probability that the coin shows tails.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

Carly throws the same coin 200 times.

(b) Work out an estimate for the number of times the coin shows tails.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

7. [4 marks]
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8. [2 marks]

A bag contains some beads.
The colour of each bead is red or green or blue.
Binita is going to take a bead at random from the bag.
The probability that she will take a red bead is 0.4
The probability that she will take a green bead is 0.5

(a) Work out the probability that she will take a blue bead.

..........................................
(2)

(b) There are 80 beads in the bag.
 Work out the number of red beads in the bag.

..........................................
(2)

9. [4 marks]
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10. [3 marks]

11. [2 marks]
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12. [3 marks]
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13. [7 marks]
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14. [4 marks]
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In a club, of the members are left-handed and of the members wear glasses.

A member is chosen at random.

Stavros says “The probability that this member is left-handed or wears glasses is ”

Is he correct?

..........................

Explain your answer.

..............................................................................................................................................

..............................................................................................................................................
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2

15. [2 marks]

16. [4 marks]
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17. [4 marks]
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18. [6 marks]
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